
Compound Inequalities 

In problems 1-3, Use A = {1, 2, 3, 4, 5, 6} , B = {1, 3, 10}, and C = {4, 5, 7, 11} to find each set. 

1. BA ∪  

 

2. BA ∩  

3. CB ∩  

 

 

 

In problems 4-5, use the graph of the inequality to find each set. 

4. { } { }1|;7| ≥=<= xxBxxA
 

BABA ∩∪  and  Find  

 

5. { } { }2|;5| <=≥= xxBxxA
 

BABA ∩∪  and  Find  

 

In problems 6-11, solve each compound inequality.  Graph the solution set. 

6. 9304 −>≤− xandx  

 

7. 93718 −>−<− xandx  

8. 10242 <−≤− x  

 

9. 12437 <+−≤ x  

10. 21452 ≤−−<− x  
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4
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−
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x
 

 

 

In problems 12-15, solve each compound inequality.  Graph the solution set. 

12. 0607 ≥−<+ xandx  

 

13. 6)2(65)3(7 >−<− xorx  

14. 32
5

1
2139 >−≤+ xorx  

 

15. 2)1(434)2(8 <−−<+− xorx  

 


